Gsh‘
x -2
B

| My X
nmu.ymu_..qf. ]
=
S.0 f%mm
¢ - (=
14+050,09 = .\Mmm i d

e = g4 >
5, = | =TS .m
]

Oc
din

Iparuua wa O3 nogc [if

v=100km/h
R=1300.00m
L1=75.00m
1L2=120.00m
H=60mm

QACKU nsm

U nbm

075.00

o

14+950.00 144975.00, 15+000.00 15+025.00 (550

- =
-

[

2np ﬁ\ —5
AR /ral head 543,793
{51 hd 543.894

144907.19

Wi /sc

1nw =

...................... ) o s A ok 2
T L T T G e Y L e L T T sy ..-...m 5

512:+000 b

el /

lIl nosc
Bo3Bparfiia kaana 600
art

SSSTSSass St -

*—
SR
illlllf?a...

002 KasudoHe

%
o



